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:switch deslas

Switch
{Condition Expression)

Statement block executed if

Condition 1

Statement block executad if
no condition 2is true
(satisfiad)

Case
Condition 2

Case Statement block executed if
Condition N no condition 'n’ is true
(sallsfied)

Statement block executed f
no condition is true ( satisfied)
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switch switch expression

case case_expression
statements

case case_expression

statements

otherwise
statements

end

:switch doasdas
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:switch doasdas

n = input('Enter a number: ');

switch n
case -1
disp('negative one')
case ©
disp('zero')
case 1
disp('positive one')
otherwise
disp('other value')

end
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A | B | _c | D | _F | Otherwise

Excellent! Very Good Well Done You Passed Better Try Again Invalid Grade
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A 8 | _C | D | _F | Othewise

Excellent! Very Good Well Done You Passed Better Try Again Invalid Grade

grade = input('enter grade:','s’);
switch grade

case 'A’

fprintf( 'Excellent!i\n" );
case 'B'

fprintf( very Good \n' );
case 'C'

fprintf('well done\n' );
case 'D’

fprintf('You passedi\n' );
case 'F’

fprintf( 'Better try again\n' );
otherwise

fprintf( 'Invalid grade\n' );

end
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Conditional Code

If condition
is true

If condition
is false
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while <expression>
<statements>

end

‘While dil>
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a = 16;

% while loop execution

while( a < 20 )
fprintf('value of a: %d\n', a);
a=a+ 1,;

end
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while n > 1
n-1;

f = f#%n;

=3
I

disp(['n! = ' num2str(f)])
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conditional
code

If condition
is true

condition

If condition
is false
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y=1[-2-40 -437];

for 1 =1 : length(y)
if y(i) > @
break
end

Z = y(1) + 6;
disp(z)
end

‘break daulss
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conditional
code

If condition continue
is true

condition

If condition
is false
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for 1 =1 : 7
if (1 ==2 | 1==05)
continue
end
disp(1)

end

:continue 4aulad

https://manara.edu.sy/


https://manara.edu.sy/

ot Ao § : break ,continue 4l

Camaliall 13gd el 7 LAl () S 13

clc

clear

n=0;

for x=1:55
n=n+1;
continue

break;

end

disp(n)
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arr = randi([@ 5@],5);
index=[-1 -1];
for 1=1:5
for j=1:5
if(arr(1,]) == 23)
index = [1 J];
break
end
end
if(index(1)~=-1)
break
end
end
X=1nput('x");
disp(arr)
disp("index is = ")

disp(index)
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num = input( ' num=);

i=2;

%starting the while loop
while true

rem = mod(num,1);

% Condition for break
if(rem==0)
break
end
%incrementing 1
1=1+1;
end

% Displaying the divisor
disp(1)
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A=randi(3,3);
B=A;

for 1i=1:3
for j=1:3
A(i,j)=input('enter num');
end

end

for i=1:3
for j=1:3
if mod(A(i,]),2)==0
B(1,3)-0;
else
B(1,7)=1;
end
end
end

disp(A);
disp(B);
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